BE¥A S4B 12 A 17 BOBRE s

(B#5%)
(1) RBRBDDE (5). REFBODZE (1] £LET,
ABBEMMFADIRUTCHSRBEBICEDETLADTIND, ZDRBOHENDIEEEL
(8] + (1)) X4= [24] BENTNF U,
1 2EIC (8] — (1] = [4) OENTEDDT, [24]) + (4] =6DEIXRBBOLFEL
THSIADRI I TOIEHTI,

(BA) 67
(2) RBBNAICRDDII6DX2=127
ZNETITREBEIF (1] X12= [12] EATNEIN'S,
(12] + [4) =3 TELDEET,
QNS BEIXTEN 24 DTINS, DODIFHEDLLIFARE : REBE=1 : 5XDTK
BBEE 24 0+ (5—1) =60TQNS5BHETITEZELUEL,
DEDZNIEEANS QFTTOD2BICEDDT.ANSBETIEIANSQDIBETINS,

800X 3=2400m=2.4km
(BZ) 2.4km



